= |EEA
N
= eco
@)\‘ PASS

PORT. shager

Product Environmental Profile
Rocker switch 1-pole black

Company information References covered

Hager WL6043, WL6042, WL6040
132 Boulevard d’Europe

F 67215 Obernai Cedex

www.hagergroup.com

A question concerning the Product Environmental Profile: infopep@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version No PSR issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product Functional unit

Reference product identification Cover plate of control element for domestic switching devices
WL6043

Use scenario based on :
PSR product Category : No PSR The functional unit is based on the use scenario recommended by the PCR for the category of the reference
product.

Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

HES Metals Ot
o] % o] % [o] %

ABS 9.37 47.3% Calcium 0.01 <0.1% Cardboard 8.33 42.0%

O PP 1.00 5.0% Silicon 0.00 <0.1% Wood 0.47 2.4%
PE-LD 0.09 0.5% Cardboard 0.38 1.9%
Epoxy resin 0.03 0.2% Other 0.05 0.2%
Polyester resin 0.03 0.2% Titanium dioxide 0.03 0.1%
Other 0.04 0.2%

Total mass of reference product with raw material

packaging : 252

Total mass of reference product

(Product + packaging) EHE

PEP ecopassport 1/5 HAGE-01327-V01.01-EN



System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing Distribution Installation End of life Module D

o

=
5 S g
E g 2 v | 38 5
5 3 c c P 5 = = -g— o
=] 5] k] k] °a S 3 2 -5 8S
So|5 > o & - & c = - 0 > = =3 ® 3
£S5 |5 ¢ zo Sg 28 8 5 g £S5 | 25 § 23 | 22 88

Xxo | S = S o ca T 2 c h o o o8 S8 = o E ? c I =
[ £ =2 S o S o o £ a = £ = =] D+ 5 =) o o - £
- 9 ° E=] = =0 c [ @ © g =] o © 2 > 38 S o
c Q @ > %5 s [IRs] a o = [T O o} Qo ] c =
= O | £ 8 a2 © & o a5 2 o) I o = 0 () B o= s S 3 |
ga |3 2 = T8 T3 £ 14 a 2 E 53 2 S o ©3 a 23
5] e ) % = O T o = 3 2 = 3 =

gg | £ ] 2 g 9 55 < g 14 o2 g2 8 -2 g o 22
se|g| = o= == 2o 5" . = g & o

] ] 7] = [} =
3 173 2 2 3£ g g > = ]
@ c = = [7} T £ o= I}
I S = = o >
c ] =2 B
= 2 9

=

<]

B3 B4 BS

Life cycle stages

Manufacturing Distribution
These products are manufactured by a site that has received an environmental The packaging has been designed in accordance with current regulations. In particular,
certification 1SO 14001. the European directive 94/62/CE relative to packaging and packaging waste.
This phase takes into account raw materials, manufacturing processes, production The used packaging is 100% recyclable or recoverable.
offcuts and their end-of-life treatment, upstream transport of materials and sub- Packaging and logistic flows are continuously improved in order to reduce their impact.
assemblies to the manufacturing site, and transport from the manufacturing site to the
final logistics platform. This phase taken into account the transport of the finished product, including packaging,

to its place of use.

Installation

Installation processes
The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the the packaging waste treatment is taken into account.

Installation elements (non delivered with the product)
Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent Power consumption / not load dependent
Active mode Inactive mode Active Sleep phase Passive Sleep phase Turn off phase
Watt % of time Watt % of time Watt % of time Watt % of time Watt % of time
0 100% 0 0% 0 0% 0 0% 0 100%

For the considered scenario, the product has no energy consumption.

Energy model of the use phase :
Europe

Consumables and maintenance :
None

End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 65%. The calculation of this rate is based on the method of the IEC/TR 62635.

PEP ecopassport 2/5 HAGE-01327-V01.01-EN



Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (1), use (U) and end of life (EoL).

Al calculations are done with EIME software version 6.2.5-3 with the database version CODDE® 2024-04 .
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturi Distribution Installation End Of Life

ng A4 A5 Cl-c4

Europe Europe Europe Europe
Environmental impact indicators
- . Manufacturing Distribution Installation Use End Of Life

Indicators Unit ALAS Ad | AS | B1B7 | ci-ca | GLOBAL | Module D
Acidification (PEF-AP) mole H+ eq. 2.21E-04 2.05E-05 2.68E-05 0.00E+00 3.84E-05 3.07E-04 -4.56E-05
Climate change - Total (PEF-GWP) kg CO2 eq. 4.71E-02 3.23E-03 1.28E-02 0.00E+00 8.33E-03 7.14E-02 -1.87E-02
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -1.27E-02 0.00E+00 2.12E-03 0.00E+00 1.88E-04 -1.04E-02 -3.61E-04
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 5.98E-02 3.23E-03 1.06E-02 0.00E+00 8.14E-03 8.18E-02 -1.83E-02
Climate change-Land use and land use kg CO2 eq. 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
change (PEF-GWPIu)
Ecotoxicity, freshwater (PEF-CTUe) CTUe 6.19E-01 2.12E-03 1.33E-01 0.00E+00 2.08E-02 7.74E-01 -1.98E-01
EF-particulate Matter (PEF-PM) '”;'SSQSC;‘” 1.44E-09 1.67E-10 1.62E-10 0.00E+00 4.20E-10 2.19E-09 -4.04E-10
Eutrophication, freshwater (PEF-Epf) kg P eq. 2.62E-07 1.22E-09 1.33E-07 0.00E+00 4.85E-08 4.45E-07 -6.84E-08
Eutrophication, marine (PEF-Epm) kg N eq. 5.27E-05 9.62E-06 1.24E-05 0.00E+00 8.26E-06 8.30E-05 -1.17E-05
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 4.97E-04 1.05E-04 7.87E-05 0.00E+00 9.41E-05 7.75E-04 -1.23E-04
Human toxicity, cancer (PEF-CTUh-c) CTUh 5.43E-09 5.69E-14 1.01E-09 0.00E+00 4.09E-12 6.44E-09 -4.44E-12
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 2.92E-10 1.10E-12 3.01E-11 0.00E+00 5.06E-11 3.73E-10 -1.01E-10
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 6.99E-02 7.89E-06 1.60E-03 0.00E+00 6.66E-04 7.21E-02 -3.43E-03
(L use (PEF-LU) No dimension 6.89E-04 0.00E+00 2.43E-05 0.00E+00 1.49E-02 1.56E-02 -2.52E-01
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.97E-09 4.97E-12 1.21E-10 0.00E+00 1.13E-09 3.22E-09 -6.68E-11
Photochemical ozone formation - human
health (PEF-POCP) kg of NMVOC eq. 1.64E-04 2.66E-05 1.83E-05 0.00E+00 2.66E-05 2.35E-04 -3.69E-05
Resource use, fossils (PEF-ADPf) MJ 1.24E+00 4.52E-02 9.17E-02 0.00E+00 1.31E-01 1.51E+00 -3.87E-01
(FE,SESE?/:CDEP‘SE' S EE LS kg Sb eq 4.96E-09 1.28E-10 2.34E-10 0.00E+00 4.21E-08 4.75E-08 -2.05E-09
Water use (PEF-WU) m3 eq. 2.86E-02 1.23E-05 8.09E-04 0.00E+00 8.05E-01 8.35E-01 -3.91E-01
Resource use indicators

- Manufacturing Distribution Installation Use End Of Life

Indicators AL-A3 Ad | A5 | B1.BT | c1.ca | GLOBAL | Module D
Net use of fresh water 6.66E-04 2.86E-07 1.88E-05 0.00E+00 3.13E-02 3.20E-02 -2.93E-03
Total primary energy 1.29E+00 4.53E-02 1.04E-01 0.00E+00 1.38E-01 1.58E+00 -4.32E-01
Total non renewable primary energy 1.24E+00 4.52E-02 9.17E-02 0.00E+00 1.31E-01 1.51E+00 -3.87E-01
Total renewable primary energy 5.23E-02 6.03E-05 1.24E-02 0.00E+00 6.79E-03 7.15E-02 -4.44E-02
gﬁ;;”ewab'e primary energy used as 8.22E-01 4.52E-02 9.17E-02 0.00E+00 1.31E-01 1.09E+00 -3.87E-01
:::e':;ewab'e primary energy used as raw 4.18E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 4.18E-01 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 3.67E-02 6.03E-05 1.24E-02 0.00E+00 6.79E-03 5.59E-02 -4.44E-02
Ejzeeﬁb'e primary energy used as raw 1.56E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.56E-02 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 9.33E-03 0.00E+00 0.00E+00 0.00E+00 0.00E+00 9.33E-03 0.00E+00

PEP ecopassport 3/5 HAGE-01327-V01.01-EN



Waste category indicators

Indicators

Hazardous waste disposed

Manufacturing D

A1-A3
1.07E-03

istribution
A4

0.00E+00

Installation
A5

2.26E-04

0.00E+00

Cl-C4
3.43E-21

End Of Life |

GLOBAL

1.30E-03

-1.65E-05

Non hazardous waste disposed

7.40E-02

1.14E-04

4.49E-03

0.00E+00

1.66E-06

7.86E-02

-5.90E-03

Radioactive waste disposed

2.22E-05

8.10E-08

5.00E-07

0.00E+00

1.18E-09

2.28E-05

-3.89E-06

Output flow indicators

Indicators

Manufacturing

Distribution

A1-A3

A4 |

Components for re-use

Installation
A5

Cl-C4

End Of Life |

GLOBAL

Exported energy

Materials for energy recovery

Materials for recycling

0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
1.58E-04 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.58E-04 0.00E+00
2.14E-04 0.00E+00 1.13E-03 0.00E+00 0.00E+00 1.34E-03 0.00E+00
1.84E-04 0.00E+00 4.21E-04 0.00E+00 0.00E+00 6.05E-04 0.00E+00

Biogenic carbon content

Packaging

Biogenic carbon content (ratio)

Cardboard

2.80E+01

3.78E+01

3.95E+01

8.71E-03 2.32E-05 4.68E-04 9.20E-03
Biogenic carbon content (declared unit) 2.44E-03 8.79E-06 1.85E-04 2.63E-03
Biogenic carbon content (functional unit) 2.44E-03 8.79E-06 1.85E-04 2.63E-03

ADEME APESA/RECORD EN 16485

Prod dboard Pape ood

a g 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon conte eclare go 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Bioge arbon conte 0 go 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Registration N°:  HAGE-01327-V01.01-EN

Drafting Rules

PEP-PCR-ed4-2021 09 06

Supplemented by

No PSR

Verifier accreditation N°:  VH37

Information and reference documents: www.pep-ecopassport.org

Date of issue: 2-2025

Validity period:

5 years

Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019

The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Il environmental declarations »

Nota
The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ..., real values for a product in a

concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.
The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport

4/5

HAGE-01327-V01.01-EN




Appendix

eq.]

Land use (PEF-LU)

cation (PEF-AP) - [mole H+ eq.]
Exported energy - [MJ]

Materials for recycling - [kg]
Net use of fresh water - [m3]
(PEF-ADPe) - [kg Sb eq]

5
=,
®
8
3
©
&
]
5
S
13
o

Hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Total primary energy - [MJ]

Water use (PEF-WU) - [m3 eq.]

Materials for energy recovery - [kg]
Use of secondary material - [kg]

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPf) - [kg CO2 eq.]
Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophication, marine (PEF-Epm) - [kg N eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
Non hazardous waste disposed - [kg]

Non renewable primary energy used as energy - [MJ]
Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Renewable primary energy used as energy - [MJ]
Resource use, fossils (PEF-ADPf) - [MJ]
Resource use, minerals and metals
Total non renewable primary energy - [MJ]

Total renewable primary energy - [MJ]

Use of non renewable secondary fuels - [MJ]

Use of renewable secondary fuels - [MJ]

Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]

ange-Land use and land use change (PEF-GWPIu) - [kg CO2 eq]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]

Non renewable primary energy used as raw material - [MJ]
Renewable primary energy used as raw material - [MJ]

lonising radiation, human health (PEF-IR) - [kg Bq U235 eq.]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

20
€ a
€< PRSI iscor| rosece| soieco| satecr] omeo| oooeew| ssieas| 2meor| vareos| rueod| s siseos| sueos] aszeso| smece| eceas| 2aees] rsmeat| wsoeos| sseece| sueio| soor] siseos| ssieos) meos| soveos| samewe| soreor] rasean| raseor] sosen| soreco| catece] omercof o] ossens| sseeer
<
g
E (RSP iscor| rosece| soiecr| satecr] omeo| oooeem| ssieas| 2meor| vareos| rueos| s siseos| sueos] aszeso| smece| eceas| 2aees] rsmeat| wsoeos| sseece| sueio| woor] siseos| ssieos) weos| soveos| samewe| soreor| rasean| raseor] sosen| soveo| catece] owerco| o] osseas| sseeer
I
= WUINIZIO  coocor| cooce| azece| raseor| oomeco| oooeo| erseor| ameor| siseas| soscor| seeos| seseoof sues| saeso| asseo| aseeon| azeeos| smeos| ramcos| ool soeico| saseor| zmeos| zoseon| ssseos| smseos| szseee| seoof sreico| raseor| sareon| sseeico| eseese| oooeico| oooeio| ssscco| asaeer
s3
§< WUINIZEI  soicos| 1socas| ooeicof 1sson| oomeo| oooeo| soteos| sesean| areos| saeas| oooeicof oovercof armess| saesa| aereos| ocoeioo| osoen| vooewco| ssocar| ssreos| 2aer| oomewo| 2esese| mirens| ssoeos| sorean| 2oses| oo 2aeer| sasens| 2eeo| 2zece| 2eseos| oooeico| oooeio| oooeicof soaeos
2 PRSP :oicos| iscecs| omeco| ssteas) omeco| oooero] roteas| soseso] areas| sueos| oovecn| omero| 2roess] swes| soreos] oumessof wovero| voneto| sweer] soreas| 2osea| ooveco] 2userc] wrress| 1seos| soreos| ssseas| o] 2zene| wmens| sciese| 222eco| sosecs| owerco| oovein] osmecof eeer
PIRLII :oicos| 1ocecs| omeco| ssteas] omerco| oooeio] roteas| soseso] areas| sueos| covecn| omero| 2roese] swes| sreos] oumessof sooero| ooveto| sweer] soreas| 2osea| ooveco] userc] wrress| 1sveos| soreos| ssseas| ooerco] 2zene| emens| sciese| 222eco| sosecs| owerco| sovein] osmecof eeer
5w
g < PIRIZER ooocvco| sooeon| ome.co| oooeeon] oumerco| sooeroo] osuerao| aoeeoo] ocvevan| o] covevon| owesoo| oooesoo] oumesso| gooesoo] ounessof aooeeoo] oonesao| oooesco] ooterco| osoesco| oooevco] owoeso| ooeeoo] omerso| sooteoo] ocnesao| acoeroo] ocoesan| osoesco] sovevon| omesco| soceron] oasescof sooeron] osnercof aoeeos
<
2 PRSP ooocico| sooeon| omeuco| cooeon] ouerco| oooeroo] osuerao| aoeeoo] ocvevon| oo covevon| omesoo| oooesco] ouesso| sooesoo] ounessof aooeeoo] oonesao| o] ooterco| osoesco| oooevco] owoesco| ooeecn] omesso| sooteoo] oanesao| acoeroo] ocoesan| ooesco] sovevan| osesco| coceron] oasescof sooeron) osnercof aoeeos
PIRILI ococvco| oooeon| ome.co| oooeon] ouerco| sooeroo] osuerao| aoeeoo] ocvevon| aoo| covevon| owesoo| oooesoo] ouesso| gooesoo] ounessof aoeeoo] oovesao| ocoesoo] ooterco| osoesco| oooerco] owoesco| ooeeon] omesso| sooteoo] oanesao| acoeroo] ocoesan| ocoesco] sovevan| omesco| coceron] oasescof sooeron] osnercof aoeeos
s
8
32 PIRZER ococvco| oooeon| ome.co| cooeon] ouerco| oooeeoo] osuerao| aoeeoo] oovevon| o] covevon| owesoo| oooesoo] ouesso| gooesoo] ounessof aoweeoo] oovesao| oooesco] ooterco| osoesco| oooevco] owoesco| ooeeco] messo| aooteoo] ocuesao| acoeroo] ocoesan| ooesco] sovevon| osesco| coceron] oasescof sooeron) osmercof aoeeos
@
oooe0] oanesso| oooeso] ocoesao| ooesco] oooevan| ooesco] oooevan| omesco| oooeeon] ouerso| aooeeoo] osueran| acogeoo] ocoevan| ocoeeoo] covevon| omesoo| coceson] ounesco| sooesoo] osnescof aooeoo) ooneuto| oo ootevan| acoesoo] oooevco] owoesco| oo0eeco] wesso| aootoo) oanesso| aooro] ocoesan| osoesco] sooeran
WL6042
PIRILI ooocvco| sooeon| ome.co| oooeon] ouerco| sooeroo] osuerao| aoeeoo] oovevon| o] covevon| owesoo| oooesoo] oumesso| sooesoo] ounessof aoeeoo] oonesao| o] ooterco| osoesco| oooevco] owoesco| ooeecn] omesso| sooteoo] ocoesao| acoeroo] ocoesan| ooesco] sovevan| osoesco| soceron| oasescof sooeron] osmercof aoeeos
oS
59 PRSI coicos| sseas| smseod] sreas] omeo| oooeio| 2omece| asseon| saseas| saieos| oovecn| omerco| woserz] sosess| ssror] rusece| oooeio| ooveo| siseer| resece] ssseer| oooeco] siseos| waveso] zeseos| siseos| ermeas| ooverco] rsews| srieos] rseas| ssseor| crveas] omerco| oot osecof sosear
[oNe)
= (RSP coicos| sseas| ssseor| sueas) omeo| oooeio| 2omece| asseon| aseas| saieos| oovecn| omero| woseie] sosess| ssros] rusece| oooeio| ooveo| siseer| resece| ssieer| oooeco] siseos| waveso] zeseos| siseos| ereas| ooverco] rsews| svieos] rseas| ssseor| crvecs] omerco| oo osmecof soxear
&
PIRLII coecos| seas| ssseor| sreas) omeo| oooeio| 2omece| asseon| aseas| saieos| oovecn| omero| wosere] sosess| ssror] rusece| oooeio] ooveo| siseer| resece| ssseer| oooeco] siseos| waveso] zeseos| siseos| ermeas| ooverco] rsens| srieos] rseas| ssseor| crveas] owerco| sovein] oseof sosear
a
E} PIRTER < socos| 1orece| scseor] sosear] omeco| oooero] ssmear| ssseon| ssreos| saseon] oovecn| oseos| wsere] oreso] susees] 2scees| o] ooveso| 2oseas| ssveas| soreer| ooveco] ssers| woteso] suseos| soseos| wsene| ooverco] sreas| 2oseos] swar| asoeor| wuece] oweco| oot oseof soiear
s PRSP <socos| 1oece| soseor] sosear] omeco| oooero] rsmear| soseon| ssreas| soseon] oovecn| oseos| wsere] oreso] susees] 2scees| o] ooveso| 2oseas| ssveas| soreer| oooeco] ssers| woteso] suseos| saseos| wsene| ooverco] sreas| 2oseon] swrar| aseor| wuece] owerco| oovein] oseof soiear
(MR <oicos| soneas| ssseor| saeas] omeco| oooeio| comece| asseon| sizeas| saseos| oovecn| omero| wonerz] sosess| ssros] rusece| oooeio] ooveo| siseer| ooteco] ssseer| oooeco] siseos| asseso] 2eveos| oooeio] ereas| oooerco] rsews| srieos] rseas| ssreor| croecs| owerco| oot oseof soxear

PEP ecopassport 5/5 HAGE-01327-V01.01-EN



